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MELBOURNE AND MZTROPOLITAN TRAMUAYS BOARD,

TEST SHEET No.1. Date:

TIME ALLOWED - 20 MINUTES.

NAME:

(in block letters)
CALCULATE THE FOLLOVING:-

£ Se do

1. 18 Tickets at 3d.
43 " " 6d.
31 " n 104,
29 n " 1/24.
17 " n 1/64.
19 " L 1/9d.

TOTAL :

2. CALCULATE TH: TIME VJORKED: Hours Minutes
STARTED 2,13 p.m. RELIEVED 5.28 p.md
RESUMED 7.02 p.m, FINISHED 11.28 p.m.
TOTAL TIME
m

3, Tram leaves suburban terminus at 3.55 p.m.
Takes 374 minutes to reach the City,
Vhat time does it reach the City ?

\1

4, Assuming that in each of the undermentioned instances a Conductor was handed

£1 by a passenger, how much change would the Conductor give if the passenger

asked for:-

Answer
8 tickets at 6d. each
7 " 1 104, "
u 1t 1 1/3d. n)
and 9 " " 6d. n)
4 " " 104, n)
and 9 1" 1" Bd- n)
8 " n 1/9d. "
3 " " 1/3d. u)
7 1} " 104, n)
and 5 " 1] 6d. n) -

DICTATION:

SIGNATURE:




